@

MELZ S7ATSTics 2 TACVAC 2,013 Q2  Poissan

7 7)» X ~ Pa]s:ah<2_l>

" P(x=0) = %1 - 0.122§

R) P(x>%2) = | =P(x<)
= 1= 0.374¢ (Eales)
= 0.6204

) X ~ Poisson (2.1 x5)
X ~ Coiton <lo.s’)
P(S"é X.ém) = P(x<io) -'/3()(6_{;4“)

= 0.5207 = 0.021] ( Eables)

= 0.444¢

3[) vaoicson<2.fxéd>
X ~ Po:‘Sfon('Zé) M g
A/p(omw.('a with X ~ '\’(/24 , 126 l)

™

Find P(X>/7.‘(.f)

z = >twf:
=
P(Z 5 0.312)
2 = 1249.¢ - 126
= |- ?(2<0.3'7~) 126
= | — 0.422¢ Z0.312
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0.3717%
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2 IV) For Paics X~ Fagson (o.z) For 5.‘_,554 M o~ boisson (1.7)

\'F ho meore Cj\t\n 3 l‘h rm'nu%ﬁ', we have

O PAs and £ 3 §v;3 let

or l(w'r and £ siosle

Pat mott 3 botbertiiey)

= F(x=0) x P(9e3) + P(x=1)x P(1<)

-2 -
= e X 0.40¢¥ + e x0.2 x 0.4932

= 0.823%
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